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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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P3-12

BYiE) | GEBATIK () | ERE (EA/) | EREE(B/R) | XS R

07:20 278 150.0 2.888 [Z=| #&Hi1T7007:20 KEFEF (GRBEREEE)
07:55 278 150.0 2.888 (&= FHR@07:55 KENFEF (REEREE)
08:30 278 150.0 2.888 (&= ¥iHAe08:30 K4ENFEF (RFEREE)
09:05 278 150.0 2.888 (&= FnHR@09:05 KENFEF (REIEREE)
09:50 278 150.0 2.888 (&= FHR@09:50 KENFEF (REEREE)
10:25 278 150.0 2.888 (&= FiHR@10:25 KREFEFE (REEREE)
11:00 278 150.0 2.888 (&= ¥iHAe11:00 KEFEF (REEREE)
11:35 278 150.0 2.888 (&= FnHR@11:35 KREFEF (REERSE)
12:05 278 150.0 2.888 (&= FnHR@12:05 KREFEF (REERE)
12:35 278 150.0 2.888 (&= FiHAe12:35 KEFEFE (REEREE)
13:05 278 150.0 2.888 (&= FnHR@13:05 KREFEF (REEREE)
13:35 278 150.0 2.888 (&= HRe13:35 KREFEF (REERSE)
14:10 278 150.0 2.888 (&= iHAe14:10 REIEFE (REEREE)
14:45 278 150.0 2.888 (&= FnHR@14:45 KREFEF (REERSE)
15:20 278 150.0 2.888 (&= nHfe15:20 REREF (REEREE)
16:00 278 150.0 2.888 (&= ¥iHA@16:00 KEFEFE (RAERES)
16:50 278 150.0 2.888 (&= FnHR@16:50 KRENFEF (REEREE)
21t 4726.0 (17)%) 2550. 0 3EUHKEC: 2080.0, PH: 5.6

FEKECE (1803.0 vs 3590.0) 15
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P3-12_0, Day=71 (2025-06-12)
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P3-12

BYiE) | GEBRTIK () | EBRE (EA/) | EREE(B/R) | XS R

08:00 283 150. 0 2.888 RS {Ri%e08:00 B (FREAEEE)
08:35 283 150.0 2.888 BE| {RRi%e08:35 B (REAERHE)
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m=595,m FV0=0

50

49 -

48 -

47 -

—0— MW

?

T T
600 605

595
m=725,m FV0=0
—— MW
49
48
47
46 -
725 730 735
m=850,m FV0=0

49 -

48 -

47 -

46 -

45 -

-—— MW

7

850 855 860




m=890, FV0=0

—— MW
48
47 -
46
45 -
T T T
890 895 900

m=930, FV0=0
48 —— MW
47
46 -
45 4
44 L T T T
930 935 940

m=975, FVO0=0 m=1035, FVO0=0
—0— MW —0— MW
48 - 49 -
47 - 48 1
47 1
46
46
45
T T T 45 T T T
975 980 985 1035 1040 1045
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P3-12

BflE) | GEBRTK () | ERE (EA/) | EREE(B/R) | XS ERR

07:15 283 150.0 2.888 BE| {Ri&e07:15 Bal (REAEHE)
07:55 283 150.0 2. 888 RS {Ri&e07:55 Bz (REERE)
08:35 283 150.0 2. 888 BE| {Ri&e08:35 Bl (REEEE)
09:15 283 150.0 2.888 RSl Ri&e09:15 BHal (REAEHE)
10:15 283 150.0 2.888 BS| 1Ri%e10:15 Bz CGGREMEESE)
11:00 283 150.0 2. 888 Bl Rige11:00 Bal (REEESE)
11:45 283 150.0 2.888 B Rige11:45 Bz (REAERSE)
12:30 283 150.0 2.888 S| Rige12:30 Bz (REAERE)
13:05 283 150.0 2. 888 BE| 1Ri%e13:05 B (RF{EEEE)
13:40 283 150.0 2.888 el Rige13:40 Bal (REAEREE)
14:15 283 150.0 2.888 S| Rige14:15 Bz (REAERE)
14:55 283 150.0 2. 888 e Rige14:55 Bz (REAERSE)
15:35 283 150.0 2.888 sl {Ri&e15:35 Ba) (REAEEE)
16:20 283 150.0 2.888 S| Ri%016:20 Bz (REAERESE)
17:15 283 150.0 2. 888 BE| Rige17:15 Bz (GREAERSE)
Bit| 4245.0 (15%%) 2250.0 3 WUFHKEC: 2080.0, PH: 5.8

FEREHEME STEAEARS (184.0 : 150.0), AIEEAT—@%E XAHE5
ZRIAKFRERE150. 0 ml.

large discrepency for begining water status (329:69.0), set to 329 ml.
BEEIKRECE (1887.0 vs 4103.0) T 5



FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-12_0, Day=69 (2025-06-10)

150 A
100 A

50

(¢
200 -
150 -
100 A

50 -

VI, V0, FRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET 2760
2208 2300 250

1800 688

125

Warning: lcol [FVI',| "FVO’'] missing

- 3000

- 2000

- 1000

FRV (ml d-1)

Warning: lcol ["WC1',  "WC2'] missing

optEC0=2600. 0, setECB=2080.0

Warning: lcol ['ECB’,| 'ECC’'] missing

0.0

optPHO0=6. 5, setPHB=5. 8

Warning: lcol ['PHB’,| 'PHC’'] missing
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1.0

0.6
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0.0
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I
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1000 K ¢ ' —@— PPFD_obs
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29.

29.

29,

28.

28.

29.

29.

29.

29.

29,

28.

30.

30.

30.

29.

29.

29.

29.

30 -

29

28

27 -

T
400

T T T
600 800 1000

m=580,m FV0=0

8 1

6_

—o— M_E

T T
580 585 590

m=7595,m FV0=0

8 4

—o— M_E
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m=890,n FV0=0
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4 4

2 4

0_

—o— M_E

i
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28.
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29.

29.

29.

29.

28.

28.

30.

29.

29.

29.

29.

30.

30.

30.

29.

29.

29.

m=440, FV0=0
5] —@— ME
0 .
5 .
0 .
44'10 44'15 450
m=630,m FV0=0
67 —o— ME
4 .
2 .
0 .
8 .
6 .
630 635 640
m=785,m FV0=0
—e— ME
0 .
8 .
6 .
4 .
2 .
755 760 7§5
m=925,m FV0=0
47 o M_E
2 .
0 .
8 .
6 .
4 .
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m=475, FV0=0

29.

28.

28.

28.

- M_E

T T
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m=675,m FV0=0
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28.

—o— M_E

6é0 6é5
m=825,n FV0=0

30. 00
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29. 6

-o— M_E
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30.
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—0—
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25 A

00 -
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50 -
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00 -
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——

75 -
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T T T
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46
45 -
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48 -
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m=630,n FV0=0

50 A
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48

47 -

46
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53 - —— MW 50 —— mW
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50 1 47 1
49 - 46 4
T T T T T T
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m=675,m FV0=0 m=715,m FV0=0
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48 -
47 -
47 -
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44 14
T T T T T T
675 680 685 715 720 725
m=825,m FV0=0 m=855,m FV0=0
—o— MW —— MW
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46 -
47.5 -
45 -
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44 -
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43 -
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P3-12

BYiE) | GEBRTIK () | ERE (EA/) | EREE B/ R) | XS ERE

08:20 283 150.0 2.888 |Z=| {Ri&e08:20 Bz (KREEEE)
09:30 283 150.0 2.888 |Z=| {Ri%e09:30 Bz (REAEHE)
10:20 283 150.0 2.888 |Z=| {Ri%e10:20 Bz (KREAEHE)
11:10 283 150.0 2.888 |Z=| Bige11:10 Bz (REEHE)
12:00 283 150.0 2.888 |Z=| {Ri%e12:00 Bz (REAEZEHE)
13:05 283 150.0 2.888 |/ifE| {Ri&e13:05 Bzl (REAEESE)
13:50 283 150.0 2.888 |[/\i| 1Ri%@13:50 B3h (GREEESE)
14:30 283 150.0 2.888 FH| 1Ri%@14:30 B3h (RkAERSE)
15:10 283 150.0 2.888 |Z=| {Rige15:10 Bz (REAEHE)
16:25 283 150.0 2.888 |Z=| 1BRige16:25 Bzh (RAERESE)
21t 2830.0 (10)%) 1500. 0 3233 KEC: 2080.0, PH: 5.9

MEREHLER 2 5 MEIELRT (184.0
ZRIALBRERE150. 0 ml.

150.0), AIEEHT—@ % XA HS

large discrepency for begining water status (300:93.0), set to 300 ml.
BEEIRECE (1897. 0 vs 4260.0) T 5




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-12_0, Day=68 (2025-06-09)

T ey g g g S S B B

V1, V8RRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET
2700 - 3000 =

100 1 2208
038 1800 800 | 2000

50 A 169

40 , e 60
Warning: lcol [FVI',| "FVO’'] missing

150 -

100 A

50 -

Warning: lcol ["WC1',  "WC2'] missing

optEC0=2600. 0, setECB=2080.0

Warning: lcol ['ECB’,| 'ECC’'] missing

optPH0=6. 5, setPHB=5.9

Warning: lcol ['PHB’,| 'PHC’'] missing
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660 860
m=615,n FV0=0

29. 4 -

29. 2

29.0

28. 8 -

28. 6

28. 4 -

6é0 655
m=830,n FV0=0

29. 75 A

29. 50 A

29. 25 A

29. 00 ~

28.75

28.50

Bé5 8&0
m=1020m FV0=0

30. 2

30.0

29. 8

29.6 -

29. 4 -

——

1020

1025 1030

27.50 A

27.25 A

27.00

26. 75 A

26. 50

26. 25 A

29.6

29. 4 -

29. 2 -

29.0 A

28. 8 -

28.6

28. 4 -

30.0 A

29. 8 -

29.6

29. 4 -

29. 2 -

29.0 A

28. 8 -

40

m=370, FV0=0

—.—
370 375 380
m=670,m FV0=0
—o—
670 675 680
m=865,m FV0=0
——
865 870 875

400

600 800
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m=415, FV0=0

m=525, FV0=0

T T
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—o— M_E
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00 ~

75 -

50 A

25 -
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m=765,n FV0=0
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T T
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46 -
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——

m=715,n FV0=0
7&0 7é5
m=910,n FV0=0
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m=965,n FV0=0
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m=525, FV0=0
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—0—
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T T
530 535

m=765,m FV0=0
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——

M_W
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T T
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m=965,m FV0=0

51 1
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48 -
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46 -
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965
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m=615, FV0=0

51 1

50 A
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T T
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m=830,m FV0=0
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48 -
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46
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T T
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m=1020m FV0=0
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m=670, FVO0=0 m=715, FV0=0
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T T T T T T
670 675 680 715 720 725
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P3-12

BYiE) | GEBATIK () | ERE (EA/) | EREE(B/R) | XS ERE

07:15 283 150.0 2.888 sl {Ri&e07:15 Bal (REEESE)
07:50 283 150.0 2.888 B 1Rige07:50 Bah (REEEER)
08:25 283 150.0 2. 888 RS {RRi%e08:25 Bz (REEREE)
09:00 283 150.0 2.888 A5 {Ri%@09:00 B (REERER)
09:45 283 150.0 2.888 RS {RRi&e09:45 B (REAEHE)
10:20 283 150.0 2.888 BS| 1Ri%e10:20 B (GREMEEEE)
10:55 283 150.0 2.888 RS Ri%@10:55 Bz (REERR)
11:30 283 150.0 2.888 | 1Rige11:30 Bzh (GREEREE)
12:05 283 150.0 2.888 S| Rige12:05 Bz (REAEHE)
12:45 283 150.0 2. 888 B Rige12:45 Bz (REERSE)
13:15 283 150.0 2.888 el Rige13:15 Bal (REAEHE)
13:50 283 150.0 2.888 RSl Rige13:50 Bz (REAEHE)
14:25 283 150.0 2. 888 e Rige14:25 Bz (REAERSE)
15:00 283 150.0 2.888 el Rige15:00 Ba) (REAEESE)
15:35 283 150.0 2.888 BE| {Rige15:35 BHa (REAERE)
16:15 283 150.0 2. 888 B Rige16:15 Bz (REAERSE)
17:10 283 150.0 2. 888 el Rige17:10 Bzl (REAEESE)
2it] 4811.0 (17%) 2550. 0 3EUHKEC: 2080.0, PH: 5.8

TERRHLER 2 STEELRTF (184.0 :

ZRIALBRERE150. 0 ml.

150.0), AIEEHT—@ % XA HS

large discrepency for begining water status (329:106.0), set to 329 ml.
BEEIRECE (1927. 0 vs 3940.0) 5T 5




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-12_0, Day=67 (2025-06-08)

150 Fo—————F——————F——————F-—————F-—————F——————F——————F-—————f——————f——————F-————-F—— =
VI, VO &RV, ET — VI, VO, FVI, EVO, FRV, adjFRV, ET
2600 2700 700 [ 3000 ~
100 + 982 ®
848 - 2000 =
50 A =
60 40 1000 &
Warning: lcol [FVI',| "FVO’'] missing
0 + - 02
( 4
200 A
30
150 -
w
100 + - 28 =
50
- 26
1.0
4
0.8
0.6 -
0.4 1
0.2 A
Warning: lcol ["WC1',  "WC2'] missing
0.0
0.8 optEC0=2600. 0, setECB=2080.0 t
0.6 -
0.4 1
0.2 A
Warning: lcol ['ECB’,| 'ECC’'] missing
0.0
o | OPtPHO=6.5, setPHB=5.8 t
0.6 -
0.4 4
0.2 ~
Warning: lcol ['PHB’,| 'PHC’'] missing
0.0 1
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T T T T
400 600 800 1000

m=550,m FV0=0
—&— ME
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29.0 A
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28. 4
T T T
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m=690,m FV0=0
30. 0 M_E
29. 8 A
29.6
29. 4 A
29. 2 1
29.0 ~
690 695 700
m=810,m FV0=0
30. 4 A ME
30. 2 1
30. 0
29. 8 A
29. 6
29. 4 A
810 815 820

m=385, FV0=0

27.5 -

27.0 -

26.5

M_E

T T
385 390 395

m=590,m FV0=0

29. 4 -

29. 2 -

29.0 A

28. 8 A
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—o— ME

T T
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m=720,m FV0=0

30. 2 A

30. 0 -

29. 8 -
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it
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m=840,n FV0=0
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m=495, FV0=0
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560 565
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m=935, FV0=0 m=970, FV0=0 m=1005, FV0=0

-o— ME -o— ME - ME
30. 6 30. 6 30. 8
30. 4 1 30. 4
30. 6
30. 2 30. 2
30. 4 1
30. 0 30. 0 A
29.8 29.8 3021
29. 6 29. 6 30. 0
T T T T T T T T T T T T T
935 940 945 970 975 980 1005 1010 1015 400 600 800 1000
m=385,m FV0=0 m=415,m FV0=0 m=495,m FV0=0 m=550,m FV0=0
51 4 i
—— MW —— MW 51 —e— MW 48 P
46 - 50 1 47 -
50
49 46
44 49 4
48 18 45
42
47 A 47 4 44
T T T 46 - T T T 46 - T T T 43 1 T T T
385 390 395 415 420 425 495 500 505 550 555 560
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